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WARM UP PROBLEMS
-

A) Find f- Ix) and glx) so that
4 what points are not in the
domain of each function ?

cos ( ex) -

- f.g) (x) → Hx) ⇐ rx

Isiah) 's""→ h (x) = sin (x) cos (x)

→ what is paint -Hope form?

→ Find A se (A.3T is on

→ k (x) = In ( x)

the hire
.



A) Find f- Ix) and glx) so that cos ( ex) -

- ff eg) (x)

Reasonable options :

÷i÷; " :*;÷..
e.
cos (x)



B) Suppose a line hat slope -2.5 and passes through 14,7)

→ what is paint -slope form?

g- 7 = -2.5 ( x - 4)

(general form : y- y . = m ( x - x.) )
→ Find A se (A.3T is on the

.

hire

plug y
=3 into point scope form and solve forx :

3- 7 -
-
- 2.5 (x-4) n, -4 ± -2.5 (x-4)n, -÷s=x-4

→⇐⇒I



c) what points are not in the domain of each function ?

→ Hx) ⇐ rx night -- i-III
Domain : all non-negative numbers

Domain : everything except ± 2÷÷:÷÷:ii:if÷iii÷ii"Domain : all real numbers of
.

interval : f- o , o)
Domain : all positive number,fancy : IR co ,

s)



Newstoft
what is calculus ?

→ differential calculus

Big question : for the graph y -- Hx)
and a point ( Xo , f ( x. D , what is the
" tangent line " t graph ?

→ integral calculus



Ex
- hint

toy:*, apt!
:c:a's ""

(a. flat) lxosflxo))



To answer the tayunt kin problem for
function flx) and point (xqflxo)),
we need

① slope of tryout line

② a point on tryout line ①
The point lxqflx.)) is on The

tryout line .

Point slope form :

y - tho)
-

-⑤fx-



Our updated goal : find slope of tryout lion

for y
.
. fix) at (Xo , tho) ) .

see.cn#eoHgiupoiutsidea to solve this : u.fm/y--flx)

if we examine the slope÷÷÷i÷÷÷÷¥:÷÷÷::÷:#
(x. tho))



To summarize
,
The slope of the tryout line

should be the " limit " of the slope
of the secant line between IX.flees) and

(x , Hx)) ( ie
,
as x approaches xo )

" f- (x) -Hx.)
"

lion
-

xoxo
x - Xoatx-

approaches Xo slope of secant



To make sense of this intuition idea
,
we need

to know what limit means
.

tntihietkfinitiom ( limit)
we say

'x'Ia ft) =L if we can get outputs
at flx) as close to L as we want by making
inputs sufficiently close to (but not equal to ! ) a .

Note : limits don't care about the value of flat .



I consider Hx) given by

÷÷÷÷:÷
.

to 4 as inputs
approach 3

.



Ex what is Yg , ×z ?

Note : x÷g
-
- ix⇒=¥j

"
s:÷:÷÷÷

.
..

= 6 .


